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What is the expected return of a zero-beta security?

A) The market rate of return.

B) Zero rate of return.

C) A negative rate of return.

D) The risk-free rate.

E) None of the above.

Consider two perfectly negatively correlated risky securities A and B. A has an expected
rate of return of 13% and a standard deviation of 19%. B has an expected rate of return

of 10% and a standard deviation of 16%. The risk-free portfolio that can be formed with

the two securities will earn rate of return.,
Ay 11.71%
B) 11.62%
Oy 11.38%
Dy 11.50%
E) 11.29%

What is the relationship between the price of a straight bond and the price of a callable
bond?

A} The straight bond’s price will be higher than the callable bond’s price for low
interest rates.

B) The straight bond’s price will be lower than the callable bond’s price for low
interest rates.

C) The straight bond’s price will change as interest rates change, but the callable
bond’s price will stay the same.

D) The straight bond and the callable bond will have the same price.

E) There is no consistent refaticnship between the two types of bonds,

You sold short 100 shares of common stock at $45 per share. The initial margin is 50%.
At what stock price would you receive a margin call if the maintenance margin is 35%7
A) 350

B) $17

Cy $35

D) 3104

E) $69

An example of is that it is not as painful to have purchased a stock of a
well-known company that decreases in value, as it is to lose money on an unknown
start-up firm.

A) mental accounting

B) regret avoidance

C) framing

D) conservatism

E) overconfidence
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6. According to the put-call parity theorem, the value of a European put option on a

non-dividend paying stock is equal to:

A) the call value plus the present value of the exercise price plus the stock price.

B) the call value plus the present value of the exercise price minus the stock price.
C) the present value of the stock price minus the exercise price minus the call price.
D) the present value of the stock price plus the exercise price minus the call price.

E) none of the above.

Use the following to answer Questions 7-8:

Year 1-Year Forward Rate
1 5.0%
2 5.5%
3 6.0%
4 6.5%
5 7.0%

7. What should the purchase price of a 2-year zero coupon bond be if it is purchased at the

beginning of year 2 and has face value of $1,0007
A) $898.45
B) $877.54
C) $885.81
D) 3$894.21
E) $8%0.00

8. What would the yield to maturity be on a four-year zero coupon bond purchased today?

A} 5.75%
B) 5.87%
) 6.00%
D) 6.12%
E) 625%

Use the following to answer Questions 9 and 10:

The following data are available relating to the performance of Silver Oak Steck Fund and the

market portfolio:

Silver Oak  Market Portfolio

Average Return 16% 12%
Standard Deviation of Returns 26% 22%
Beta 1.15 1.00
Residual Standard Deviation 1% 0%

The risk-free return during ihe sample period was 4%.

9. What is the information ratic measure of performance evaluation for Silver Oak Stock

Fund?

A) 4.00

B) 2.56

C) 2.80

D)} 12.00

E) none of the above
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10. Calculate Sharpe's measure of performance for Silver Qak Stock Fund,
Ay 10.43%
B) 46.15%
C) 36.36%
D) 15.38%
E)none of the above

11. Write down the Fama-French three factor model and briefly define the factors in the
model. (NG - EEMELSF » HBFAFFHH)

12. Discuss the process of conducting an event study. Also, What is the relation between

event study and market efficiency? (E+ =4 - SEME 47 BAF AR F3H4)
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